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LINES (IN TWO - DIMENSIONS)

1. Find the coordinates of the point P which
divides the line joining of A(-2,5) and B (3,-5) in the

ratio2:3.
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2. If (1, g) is the mid-point of the line segment
2

joining the points (2, 0) and (O, 5), then show

that the line 5z + 3y + 2 = 0 passes through the

point ( — 1, 3p).

o Watch Video Solution

Self Assessment | A | Objective Type Questions

1. The distance of the point ( — 3, 4) from the x-

axis is


https://dl.doubtnut.com/l/_eG9yXXFLcrOT
https://dl.doubtnut.com/l/_IWFPef9B0mWI
https://dl.doubtnut.com/l/_TqTVAfgk0OUv

A.3

C. 4

D.5

Answer:

o Watch Video Solution
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joining the points Q (- 6, 7) and R ( - 2, 3), then

2.If A( ) s the mid-point of the line segment

the value of mis


https://dl.doubtnut.com/l/_TqTVAfgk0OUv
https://dl.doubtnut.com/l/_wyqR8uL4sp7T

Answer:

o Watch Video Solution

3. The distance of the point P(2,4) from the origin

is :

A. 7 units


https://dl.doubtnut.com/l/_wyqR8uL4sp7T
https://dl.doubtnut.com/l/_9cwWnxhnK0cb

B. 5 units

C. 4 units

D. 3 units

Answer:

o Watch Video Solution

Self Assessment | B | Fill In The Blanks

1. The point which divides the line segment joining

the points A(O, 5) and B(5, O) internally in the ratio


https://dl.doubtnut.com/l/_9cwWnxhnK0cb
https://dl.doubtnut.com/l/_CZUCVl9YyLLn

o Watch Video Solution

2. The mid - point of the line segment joining the

points A(a,0) and B(0,b) is ... .

o Watch Video Solution

3. The perpendicular distance of A (5,12) from the

Y,axis is

o Watch Video Solution



https://dl.doubtnut.com/l/_CZUCVl9YyLLn
https://dl.doubtnut.com/l/_fcwekSE85KUx
https://dl.doubtnut.com/l/_7vNjXlDskuUD

Self Assessment | C | Very Short Answer Type

Questions

1. Find the distance of point P(x,y) from the origin

o Watch Video Solution

2. about to only mathematics

o Watch Video Solution

3. Find the coordinates of a point A, where AB is

the diameter of a circle whose centre is (2,-3) and


https://dl.doubtnut.com/l/_KZsYXVtPeNmy
https://dl.doubtnut.com/l/_TO3maADIIiSS
https://dl.doubtnut.com/l/_Ac62vdLu0baC

B is the point (1,4).

o Watch Video Solution

Self Assessment | li Short Answer Type Question |

1. The perimeter of a tringle with vertices (0,4),

(0,0) and (3,0) is

o Watch Video Solution

2. Find the coordinates of the point P which

divides the join of A(-2,5) and B(3,-5) in the ratiio 2


https://dl.doubtnut.com/l/_Ac62vdLu0baC
https://dl.doubtnut.com/l/_5MxaMKLsmFXN
https://dl.doubtnut.com/l/_ui9gCErXw6rp

° Watch Video Solution

3. Find a relation between x and y such that the
point P(xy) is equidistant from the points A (-5,3)

and B(7,2).

o Watch Video Solution

Self Assessment | lii Short Answer Type Question li



https://dl.doubtnut.com/l/_ui9gCErXw6rp
https://dl.doubtnut.com/l/_uMAc5qljahhy

1. The point A(1,-2), B(2,3) , C(k,2) and D(-4,-3) are
the vertices of a parallelogram. Find the value of k
and the altitude of the parallelogram

corresponding to the base AB.

° Watch Video Solution

2. The vertices of a triangle are A (-1.3), B (1,-1) and
C (5, 1). Find the length of the median through the

vertex C.

° Watch Video Solution



https://dl.doubtnut.com/l/_0cWuyIhOOgOz
https://dl.doubtnut.com/l/_IX6Y8H4ZYn14
https://dl.doubtnut.com/l/_QdRHGLRQLU1M

3. If the point C (-1, 2) divides internally the line
segment joining the points A(2, 5) and B (xy) in

the ratio of 3:4, find the value of 2% + 3?2 .

o Watch Video Solution

Self Assessment | Iv Long Answer Type Question li

1. The vertices of quadrilateral ABCD are A(5,-1)
B(8,3), C(4,0) and D(1,-4). Prove that ABCD is a

rhombus.

o Watch Video Solution



https://dl.doubtnut.com/l/_QdRHGLRQLU1M
https://dl.doubtnut.com/l/_ER2wSBdqQwOK

2. Points A( —1,y) and B(5,7) lie on a circle
with centre O(2, — 3y). Find the values of y.

Hence, find the radius of the circle.

o Watch Video Solution

3. Find the coordinates of the points which divide
the line segment joining

A(2,\ 2)\ and\ B(2,8) into four equal parts.

° Watch Video Solution



https://dl.doubtnut.com/l/_ER2wSBdqQwOK
https://dl.doubtnut.com/l/_GHFFTFeQEiZ2
https://dl.doubtnut.com/l/_1r5ezAcQSrST

Self Assessment | Vi Cose Study Bosed Questions

1.In a class room 4 friends are seated at the point

A,B,C,D as shown in figure.

T
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: + )

Champa and chameli walk into the class and after
observing for a few minutes, champa asks chameli,

what is the shape of ABCD ?


https://dl.doubtnut.com/l/_o59GD9ehdc5G

A. Trapezium

B. Rectangle

C. Rhombus

D. Square

Answer:

o Watch Video Solution

2.1n a class room 4 friends are seated at the point

A,B,C,D as shown in figure.


https://dl.doubtnut.com/l/_o59GD9ehdc5G
https://dl.doubtnut.com/l/_Nyw6GPRXauwP
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What is the coordinate of A?

A.(34)

B. (4,3)

C.(3,2)

D. (3,5)

Answer:



https://dl.doubtnut.com/l/_Nyw6GPRXauwP

| @Y Watch Video Solution

3.1In a class room 4 friends are seated at the point

A,B,C,D as shown in figure.
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Find the distance between A and D.

A. 34/3 units

B. 24/2 units


https://dl.doubtnut.com/l/_Nyw6GPRXauwP
https://dl.doubtnut.com/l/_R7iiPHgEDRHp

C. 2+/2 units

D. 2,/3 units

Answer:

o Watch Video Solution

4.In a class room 4 friends are seated at the point

A,B,C,D as shown in figure.


https://dl.doubtnut.com/l/_R7iiPHgEDRHp
https://dl.doubtnut.com/l/_PVYBiSnUVde5
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Find the distance between B and C.

A. 34/3 units
B. 2+/3 units
C. 3v/2 units

D. 24/2 units

Answer:


https://dl.doubtnut.com/l/_PVYBiSnUVde5

o Watch Video Solution

5.1n a class room 4 friends are seated at the point

A,B,C,D as shown in figure.
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Write the coordinates of C.

A. (9/4)

B. (4,9)


https://dl.doubtnut.com/l/_PVYBiSnUVde5
https://dl.doubtnut.com/l/_bSgSG2e9iy0R

C. (4,8)

D. (8,4)

Answer:

° Watch Video Solution

6. Class X students of a secondary school in
Krishnagar have been alloted a rectangular plot of
a land for gardening activity. Saplings of Gulmohar
are planted on the boundary at a distance of T m
from each other. There is a triangular grassy lawn

in the plot as shown in the fig. The students are to


https://dl.doubtnut.com/l/_bSgSG2e9iy0R
https://dl.doubtnut.com/l/_ha0IyzyIoFZw

sow seeds of flowering plants on the remaining

area of the plot.
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Considering A as origin, answer question (i) to (v):

Considinates A as the origin, what are the

coordinates of A ?

A.(0,))

B. (1,0)

C.(0,0)

D. (-1,-1)


https://dl.doubtnut.com/l/_ha0IyzyIoFZw

Answer:

o Watch Video Solution

7. The class X students school in krishnagar have
been allotted a rectangular plot of land for their
gardening activity. Saplings of Gulmohar are
planted on the boundary at a distance of T m from
each other. There is triangular grassy lawn in the
plot as shown in the figure. The students are to
sow seeds of flowering plants on the remaining

area of the plot.


https://dl.doubtnut.com/l/_ha0IyzyIoFZw
https://dl.doubtnut.com/l/_RT10dVLueQhf
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Taking A as origin, find the coordinates of P

A. (4,6)

B. (6,4)

C. (4,5)

D. (5,4)

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_RT10dVLueQhf
https://dl.doubtnut.com/l/_nL6IcsVn7kK6

8. The class X students school in krishnagar have
been allotted a rectangular plot of land for their
gardening activity. Saplings of Gulmohar are
planted on the boundary at a distance of 1 m from
each other. There is triangular grassy lawn in the
plot as shown in the figure. The students are to
sow seeds of flowering plants on the remaining

area of the plot.

i -
’W"w"ﬂ"rlw el 1% Al

What will be the coordinates of R, if C is the

origin?


https://dl.doubtnut.com/l/_nL6IcsVn7kK6

A. (6,5)

B. (5,6)

C. (6,0)

D.(7,4)

Answer:

o Watch Video Solution

9. Class X students of a secondary school in
Krishnagar have been allotted a rectangular plot

of a land for gardening activity. Saplings of


https://dl.doubtnut.com/l/_nL6IcsVn7kK6
https://dl.doubtnut.com/l/_6mPgcn5zQ3Ph

Gulmohar are planted on the boundary at a
distance of 1m from each other. There is a
triangular grassy lawn in the plot as shown in the
fig. The students are to sow seeds of flowering

plants on the remaining area of the plot.
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What are the coordinate of P if D is taken as the

origin?

A. (16,0)

B. (0,0)


https://dl.doubtnut.com/l/_6mPgcn5zQ3Ph

C.(0,16)

D. (16,1)

Answer:

° Watch Video Solution

10. Class X students of a secondary school in
Krishnagar have been allotted a rectangular plot
of a land for gardening activity. Saplings of
Gulmohar are planted on the boundary at a
distance of 1m from each other. There is a

triangular grassy lawn in the plot as shown in the


https://dl.doubtnut.com/l/_6mPgcn5zQ3Ph
https://dl.doubtnut.com/l/_ZEjF4Eqck5ZS

fig. The students are to sow seeds of flowering

plants on the remaining area of the plot.
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What are the coordinate of P if D is taken as the

origin?

A. (12,2)

B. (-12,6)

C.(12,3)

D. (6,10)


https://dl.doubtnut.com/l/_ZEjF4Eqck5ZS

Answer:

° Watch Video Solution

11. The given figure shows the arrangement of
charis in a classroom. Dinesh, Mohan and Sohan

are seated at A (1,1) B (-2,7) and C (3,-3) respectively.


https://dl.doubtnut.com/l/_ZEjF4Eqck5ZS
https://dl.doubtnut.com/l/_j10lAbzffQwX
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Find the distance between Dinesh and Sohan.

A.2,/5 units
B. 24/3 units
C. 24/7 units

D. 3,/2 units


https://dl.doubtnut.com/l/_j10lAbzffQwX

Answer:

° Watch Video Solution

12. The given figure shows the arrangement of
charis in a classroom. Dinesh, Mohan and Sohan

are seated at A (1,1) B (-2,7) and C (3,-3) respectively.


https://dl.doubtnut.com/l/_j10lAbzffQwX
https://dl.doubtnut.com/l/_jXpJj2E777d1
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Find the distance between Dinesh and Mohan.

A.2,/3 units
B. 54/2 units
C. 34/5 units

D. 2,/5 units


https://dl.doubtnut.com/l/_jXpJj2E777d1

Answer:

° Watch Video Solution

13. The given figure shows the arrangement of
charis in a classroom. Dinesh, Mohan and Sohan

are seated at A (1,1) B (-2,7) and C (3,-3) respectively.


https://dl.doubtnut.com/l/_jXpJj2E777d1
https://dl.doubtnut.com/l/_kqVVDPkVmOB4
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Name the quadrant in which Sohan is seated.

A. | quadrant
B. Il quadrant
C. lll quadrant

D. IV quadrant


https://dl.doubtnut.com/l/_kqVVDPkVmOB4

Answer:

° Watch Video Solution

14. The given figure shows the arrangement of
charis in a classroom. Dinesh, Mohan and Sohan

are seated at A (1,1) B (-2,7) and C (3,-3) respectively.


https://dl.doubtnut.com/l/_kqVVDPkVmOB4
https://dl.doubtnut.com/l/_N3PbdhwfZoQr
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Name the quadrant in which Dinesh is seated.

A. | quadrant
B. Il quadrant
C. lll quadrant

D. IV quadrant


https://dl.doubtnut.com/l/_N3PbdhwfZoQr

Answer:

° Watch Video Solution

15. The given figure shows the arrangement of
charis in a classroom. Dinesh, Mohan and Sohan

are seated at A (1,1) B (-2,7) and C (3,-3) respectively.


https://dl.doubtnut.com/l/_N3PbdhwfZoQr
https://dl.doubtnut.com/l/_dJbU42QQTDEN
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Which of the following is the correct distance

formula.

A. \/(w2 — wl)2 + (y2 — yl)2
B. [(z1 — 22) + (y1 — )]’

C.(z1 —29) + (y1 — )’


https://dl.doubtnut.com/l/_dJbU42QQTDEN

D. (%1 — ®2) — (y1 — ¥2)

Answer:

o Watch Video Solution

16. The given figure, shows the arrangement of
desks in a classroom. Ashima, Bharti and Camell

are seated at A (3,1), B(6,4) and C(8,6) respectively.


https://dl.doubtnut.com/l/_dJbU42QQTDEN
https://dl.doubtnut.com/l/_NTzD8t9EIlJP

SEEmnsLs

1 2 3 4 8 & 7 & 9 10
Columns

Find the distance between Ashima and Bharti.

A. 24/3 units
B. 34/2 units
C. /2 units

D. v/3 units

Answer:



https://dl.doubtnut.com/l/_NTzD8t9EIlJP

| W Watch Video Solution

17. The given figure, shows the arrangement of
desks in a classroom. Ashima, Bharti and Camell

are seated at A (3,1), B(6,4) and C(8,6) respectively.
10 ;

EESsaTRENw
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EEEROEsw
Ll 2 2 e &}

1 2 3 4 8 & 7 B % 10
Columns

Find the distance between Bharti and Camella,

A. 24/2 units


https://dl.doubtnut.com/l/_NTzD8t9EIlJP
https://dl.doubtnut.com/l/_CtrBWwIggIUq

B. /2 units
C. /3 units

D. 34/2 units

Answer:

o Watch Video Solution

18. The given figure, shows the arrangement of
desks in a classroom. Ashima, Bharti and Camell

are seated at A (3,1), B(6,4) and C(8,6) respectively.


https://dl.doubtnut.com/l/_CtrBWwIggIUq
https://dl.doubtnut.com/l/_LaCvZjKph4Oq
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At how much distance Ashima is seated from
Camella ?

A. 2,/5 units

B. 24/2 units

C. 2 units

D. 5 units


https://dl.doubtnut.com/l/_LaCvZjKph4Oq

Answer:

o Watch Video Solution

19. The given figure, shows the arrangement of
desks in a classroom. Ashima, Bharti and Camell

are seated at A (3,1), B(6,4) and C(8,6) respectively.
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https://dl.doubtnut.com/l/_LaCvZjKph4Oq
https://dl.doubtnut.com/l/_l7EtjMzKeCCA

Write the formula for distance between

(1, %1) and (z3, y2)

A. \/(9[52 —21)" + (12 — 01)°

B. \/(@'1 +22)° + (Y1 — )

C. \/(301 +22)° — (y1 + 1)

D. (z1 + 5132)2 + (y1 — y2)2

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_l7EtjMzKeCCA

20. The given figure, shows the arrangement of
desks in a classroom. Ashima, Bharti and Camell

are seated at A (3,1), B(6,4) and C(8,6) respectively.
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Write the formula for mid- points of two points :

A£131+y1 T2 + Y2
' 2 ’ 2
B£B1—|—y1 Y1 + Y2
' 2 ’ 2



https://dl.doubtnut.com/l/_cnOR7blQYkwN

L1,Y1 L2 — Y2
2 2

T1 — Y2 Y1+ Y2
2 2

Answer:

o Watch Video Solution

Ncert Corner Textbook Questions Exercise 7 1

1. Find the distance between the following pairs of

points :

(2,3), (41)

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_cnOR7blQYkwN
https://dl.doubtnut.com/l/_rkIqUlwhwdWC

2.Find the distance between the following pairs of
points :

(-5,7), (-1,3)

o Watch Video Solution

3. Find the distance between the following pairs of
points :

(a’b)’ (-a’-b)

o Watch Video Solution



https://dl.doubtnut.com/l/_rkIqUlwhwdWC
https://dl.doubtnut.com/l/_hm9IN3anFQ9s
https://dl.doubtnut.com/l/_IyyzEvHKjKBh

4. Find the distance between the points (0,0) and

(36,15).

o Watch Video Solution

5. Determine if the points (1,5), (2,3) and (-2,11) are

collinear.

o Watch Video Solution

6. Check whether (5,-2), (6,4) and (7,-2) are the

vertices of an isosceles triangle.



https://dl.doubtnut.com/l/_nfElIhvXeIs1
https://dl.doubtnut.com/l/_i94nPzcPvbhb
https://dl.doubtnut.com/l/_nq5kUZdzfyOA

‘ ° Watch Video Solution

7. In a classroom, 4 friends are seated at the
points A. B. C and D as shown in Fig. 7.8. Champa
and Chameli walk into the class and after
observing for a few minutes Champa asks Chameli,
"Don't you think ABCD is a square?" Chameli

disagrees. Usi

o Watch Video Solution



https://dl.doubtnut.com/l/_nq5kUZdzfyOA
https://dl.doubtnut.com/l/_wj3Lc7gayZ4P

8. Name the type of quadrilateral formed, if any, by
the following points and give reasona for your
Solution :

(-1’-2)9 (1,0)’ (-1,2)7 (-390)

° Watch Video Solution

9. Name the type of quadrilateral formed, if any, by
the following points and give reasona for your
Solution :

(-3’5)’ (3’1)9 (093)’ (-1’-4)

o Watch Video Solution



https://dl.doubtnut.com/l/_vMh9YuDqYQPb
https://dl.doubtnut.com/l/_oE8hOEbHI2d4

10. Name the type of quadrilateral formed, if any
by the following points, and give reasons for your
answer :

(4, 5),7,6),(4,3),(1,2)

o Watch Video Solution

1. Find the point on the X - axis which is

equidistant from (2,-5) and (-2,9).

o Watch Video Solution



https://dl.doubtnut.com/l/_oE8hOEbHI2d4
https://dl.doubtnut.com/l/_HajQFYbiT1i3
https://dl.doubtnut.com/l/_4rkFBGMF7GFK
https://dl.doubtnut.com/l/_m3hxbaQoQVLq

12. Find the values of y for which the distance
between the points P(2, — 3) and Q(10, y) is 10

units.

° Watch Video Solution

13. If Q(0, 1) is equidistant from P(5, 3)and R(x, 6),
find the values of x. Also find the distances QR and

PR.

o Watch Video Solution



https://dl.doubtnut.com/l/_m3hxbaQoQVLq
https://dl.doubtnut.com/l/_Y2v5Drq6ZQ3I

14. Find a relation between x and y such that the
point (x, y) is equidistant from the point (3, 6)

and ( — 3, 4).

o Watch Video Solution

Ncert Corner Textbook Questions Exercise 7 2

1. Find the coordinates of the point which divides
the join of A( — 1,7) and B(4, — 3) in the ratio

2:3.

o Watch Video Solution



https://dl.doubtnut.com/l/_CACZ5aVNX8Fe
https://dl.doubtnut.com/l/_dWnyoZZOjgLw

2. Find the coordinates of the points of trisection

of the line segment joining (4, 1) and (2, 3)-

o Watch Video Solution

3. To conduct Sports Day activities, in your
rectangular shaped school ground ABCD, lines
have been drawn with chalk powder at a distance
of Tm each. 100 flower pots have been placed at a
distance of Tm from each other along AD, as

shown in Figur



https://dl.doubtnut.com/l/_dWnyoZZOjgLw
https://dl.doubtnut.com/l/_gFC3HIbJeIBZ
https://dl.doubtnut.com/l/_wmckaaOqcrwG

| ¥ vvatch video >olution J

4.Find the ratio in which the line segment joining
the points ( — 3,10) and (6, — 8) is divided by

(—1,6).

o Watch Video Solution

5. Find the ratio in which the line segment joining
A (1,-5) and B(-4,5) is divided by the X-axis. Also find

the coordinates of the point of division.

o Watch Video Solution



https://dl.doubtnut.com/l/_wmckaaOqcrwG
https://dl.doubtnut.com/l/_kdUe6ZnfQvlt
https://dl.doubtnut.com/l/_OqRnhucvcuYS

6. If (1, 2), (4,y), (x,6) and (3, 5) are the vertices of a

parallelogram taken in order, find x and y.

o Watch Video Solution

7. Find the coordinates of a point A, where AB is
the diameter of a circle whose centre is (2,-3) and

B is (1,4).

° Watch Video Solution



https://dl.doubtnut.com/l/_JlPQNSkOcwCg
https://dl.doubtnut.com/l/_LbyDEN1faeMU

8.If A and B are (-2,-2) and (2,-4), respectively, find
3
the coordinates of P such that AP = - AB and P

lies on the lie segment AB.

o Watch Video Solution

9. Find the coordinates of the points which divide
the line segment joining A(-2,2) and (2,8) into four

equal parts.

° Watch Video Solution



https://dl.doubtnut.com/l/_eiHIbGZroCNw
https://dl.doubtnut.com/l/_Bg38ry1SpfBl

10. Find the area of a rhombus if its vertices (3,0),

(4, 5), (-1,4) and (-2,-1) are taken in order.

o Watch Video Solution

Ncert Corner Textbook Questions Exercise 7 3

1. Find the area of the triangle whose vertices are :

(2’3)’ (-1 ’0)7 (2,'4)

o Watch Video Solution



https://dl.doubtnut.com/l/_r7O5F9XMCusG
https://dl.doubtnut.com/l/_xbaPGuUVq1tE

2.Find the area of the triangle whose vertices are:

(-5,-1), (3,-5), (5,2)

o Watch Video Solution

3. In each of the following find the value of 'k, for

which the points are colinear.

(7a-2), (5’1)’ (3’k)

o Watch Video Solution



https://dl.doubtnut.com/l/_ZeYThUIXcALJ
https://dl.doubtnut.com/l/_W18Fl0lv7bUi

4. Find the value of 'k, for which the given points
are colinear.

(8,1), (ks4), (2,-5)

° Watch Video Solution

5. Find the area of the triangle formed by joining
the mid-points of the sides of the triangle whose
vertices are (0, — 1), (2,1) and (0, 3). Find the

ratio of this area to the area of the given triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_tGwgutUMUfzR
https://dl.doubtnut.com/l/_rBkFFeLVM1WY
https://dl.doubtnut.com/l/_nPMQ52iSTGj2

6. Find the area of the quadrilateral whose

vertices, taken in order, are

(4,\ 2),\ 3\ 5),\ (3,\ 2)\ and\ (2,\ 3)

° Watch Video Solution

7. As we know studied that a median of a triangle
divides it into triangles of equal areas. Verify this
result for AABC whose vertices are A (4,6),

B(3,-2) and C (5,2).

° Watch Video Solution



https://dl.doubtnut.com/l/_nPMQ52iSTGj2
https://dl.doubtnut.com/l/_7p5TlSuYejMs

Ncert Corner Textbook Questions Exercise 7 4

1. Determine the ratio in which the line 2x +y4 =0
divides the line segment joining the points A(2, 2)

and B(3,7).

o Watch Video Solution

2. Find a relation between x and y if the points (x,

y), (1, 2) and (7, O) are collinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_PNwxfMddWjMM
https://dl.doubtnut.com/l/_7qdkyPvMoC3u
https://dl.doubtnut.com/l/_r4VBavsRZnNC

3. Find the centre of a circle passing through the

points (6, 6), (3, 7) and (3, 3).

° Watch Video Solution

4. The two opposite vertices of a square are
(1, 2) and (3, 2).Find the coordinates of the

other two vertices.

o Watch Video Solution

5. The Class X students of a secondary school in

Krishinagar have been alloted a rectangular plot


https://dl.doubtnut.com/l/_r4VBavsRZnNC
https://dl.doubtnut.com/l/_OLkWwjlO3RPG
https://dl.doubtnut.com/l/_TA39xWekxbs9

of land for their gardening activity. Sapling of
Gulmohar is planted on the boundary at a
distance of 1T m from each other. There is a
triangular grassy lawn in the plot as shown in the
figure. The students are to sow seeds of flowering

plants on the remaining area of the plot.

'#gaha & A Q_
Fe = k. O
s - i
- R I=
=4 -
L | - [Cm
Slbabsaddgbadpedsis

A{2345678910 D

Taking A as origin, find the coordinates of ther

vertices of the triangle.

O Watch Video Solution



https://dl.doubtnut.com/l/_TA39xWekxbs9
https://dl.doubtnut.com/l/_K0HqYXq4pens

6. The Class X students of a secondary school in
Krishinagar have been allotted a rectangular plot
of land for their gardening activity. Sapling of
Gulmohar are planted on the boundary at a
distance of 1m from each other. There is a

triangular gr

o Watch Video Solution

7. The vertices of a
AABCareA(4,6), B(1,5) and C(7,2). Alineis

drawn to intersect side AB and AC at D and E


https://dl.doubtnut.com/l/_K0HqYXq4pens
https://dl.doubtnut.com/l/_2hQM5XOnJ4mL

respectively, such that B - = —.
Calculate the area of AADE and compare it with

the area of AABC.

° Watch Video Solution

8. A(4, 2), B(6,5) and C(1, 4) are the vertices
of ABC' . The median from A meets BC in D .

Find the coordinates of the point D .

o Watch Video Solution



https://dl.doubtnut.com/l/_2hQM5XOnJ4mL
https://dl.doubtnut.com/l/_5lwjVXWS3jfC

9. A(4, 2), B(6,5) and C(1, 4) are the vertices
of ABC' . Find the coordinates of point P on AD

such that AP: PD = 2:1.

o Watch Video Solution

10. A(4, 2), B(6,5) and C(1, 4) are the vertices
of ABC . Find the coordinates of the points ) on

median BE such that BQ: QFE = 2:1

° Watch Video Solution



https://dl.doubtnut.com/l/_Cc5w8mQqo4Wa
https://dl.doubtnut.com/l/_04aVoSXamRqU

1. Let A (4,2) , B (6,5) and C (1,4) be the vertices of

AABC.

What do you observe?

o Watch Video Solution

12. A(4,2), B(6,5) and C(1,4) are the vertices of
AN ABC

Using centroid formula , find coordinates of
centroid G and write

your observation of points P,Q and G ..

o Watch Video Solution



https://dl.doubtnut.com/l/_d229o39rptAY
https://dl.doubtnut.com/l/_nXCSi76ZwGM4

13. ABCD is a rectangle formed by the points
A(1, 1), B(1, 4), C(5, 4) and D(5, 1). P, Q, R
and S are the midpoints of AB, BC, CD and DA
respectively. Is the quadrilateral PQRS a square? A

rectangle? or a rhombus? Justify yo

° Watch Video Solution

Ncert Exemplar Exercise 7 1

1. The distance of the point P (2,3) from the Y-axis

is


https://dl.doubtnut.com/l/_nXCSi76ZwGM4
https://dl.doubtnut.com/l/_BU0ywP83Y1X4
https://dl.doubtnut.com/l/_pWwtfiotTKF5

A2

B.3

C.1

D.5

Answer: B

o Watch Video Solution

2. The distance between the points A (-1,6) and

B(2,2) is

A.6


https://dl.doubtnut.com/l/_pWwtfiotTKF5
https://dl.doubtnut.com/l/_pvYGks4S6N5v

B.5

C. 4

D. 2

Answer: B

o Watch Video Solution

3. The distance of the point P(-4,3) from the origin

is

° Watch Video Solution



https://dl.doubtnut.com/l/_pvYGks4S6N5v
https://dl.doubtnut.com/l/_nP0f5c6eqPDJ
https://dl.doubtnut.com/l/_3Mpu4TCl7Utz

4.The distance between the points (-5,0) and (0,5)

C.2,5

D.10

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_3Mpu4TCl7Utz

5. AOBC is a rectangle whose three vertices are
A(0,-3), O(0,0) and B (4,0). The length of its

diagonal is__

A5

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_EvXzZ9Z7Te3W
https://dl.doubtnut.com/l/_uvH1gMwUq2vR

6. The perimeter of a tringle with vertices (0,4),
(0,0) and (3,0) is

A.5

B.12

cC.1n

D.7+ +/5

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_uvH1gMwUq2vR

7. The area of a triangle with vertices A(3,0),B(7,0)

and C(84) is

A 14

B. 28

C.8

D.6

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_ICGLnNmzx6iU

8. The points ( — 4,0),(4,0) and (0, 3) are the
verticess of a

A.right triangle

B. isosceles triangle

C. equilateral triangle

D. scalene triangle

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_FL9632OEzVWO

9. The point which divides the line segment
joining the points (7,6) and (3,4) in ratio 1:2

internally lies in the

A. | quadrant
B. Il quadrant
C. lll quadrant

D. IV quadrant

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_kq3rbv7EF400
https://dl.doubtnut.com/l/_qu6Vih7vrLCH

10. The point which lies on the perpendicular

bisector of the line segment joining the points

A(-2,-5) and B (2,5) is

A. (0,0)

B. (0,2)

C. (2,0)

D. (-2,0)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_qu6Vih7vrLCH

11. The fourth vertex D of a parallelogram ABCD
whose three vertices are A( — 2, 3), B(6, 7) and
C(8, 3)is

A. (0,1)

B. (0,-1)

C. (-1,0)

D. (1,0)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_hEyL9fIlbVgv
https://dl.doubtnut.com/l/_Ihs3fzDDzMuq

12. If the point P(2,1) lies on the line segment

joining points A (4,2) and B (8,4) then :

1
A AP = gAB
B. AP = PB
1
C. PB = gAB
1
D.AP = EAB
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Ihs3fzDDzMuq

13. If P(%,4) is the mid - point of the line
segment joining the points Q( — 6,5) and
R( — 2, 3), then the value of a is

A -4

B.-12

C.12

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_n4jAiBbHwS0K
https://dl.doubtnut.com/l/_jRe73DuvFU3b

14. The perpendicular bisector of the line segment

joining the points A(1,5) and B(4,6) cuts the Y-axis

at

A. (0,13)

B. (0,-13)

C.(0,12)

D. (13,0)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_jRe73DuvFU3b

15. The coordinates of the point which is

equidistant from the three vertices of the

A\ AOB as shown in the figure is

Y
A

0, 2y) <

X< \ B —X
O (2x,0)

<<

A. (x,y)

B. (y,x)

T y)
Cl—=, =
(2’ 2


https://dl.doubtnut.com/l/_fk4XHO2Sc8DX

Answer: A

o Watch Video Solution

16. If a circle drawn with origin as the centre

13
passes through (7, 0), then the point which
does not lie in the interior of the circle is
A. (-3/4,)
B. (2,7/3)

C.(5,1/2)


https://dl.doubtnut.com/l/_fk4XHO2Sc8DX
https://dl.doubtnut.com/l/_E5ASrVBeUh3W

D. (-6,5/2)

Answer: D

o Watch Video Solution

17. A line intersects the Y- axis and X-axis at the
points P and Q, respectively. If (2,-5) is the mid-
point of PQ, then the coordinates of P and Q are,

respectively.

A. (0,5) and (2,0)

B. (0,10) and (-4,0)


https://dl.doubtnut.com/l/_E5ASrVBeUh3W
https://dl.doubtnut.com/l/_STslW0R91fdc

C.(0,4) and (-10,0)

D. (0,-10) and (4,0)

Answer: D

o Watch Video Solution

18. The area of a triangle with vertices (a,b+c),

(b,c+a) and (c,a+b) is

A.(a+b+c¢)

B.O

C.a+b+c


https://dl.doubtnut.com/l/_STslW0R91fdc
https://dl.doubtnut.com/l/_8OJdMgCqwnsg

D. abc

Answer: B

o Watch Video Solution

19. If the distance between the points (3,6) and

(p,10) is 24/5, then the value of p is :

A 4

B.5

D.O


https://dl.doubtnut.com/l/_8OJdMgCqwnsg
https://dl.doubtnut.com/l/_ypi2vpuLgq4M

Answer: B

° Watch Video Solution

20. If the points A(1,2) , B(0,0) and C (a,b) are

collinear , then

B.a=2b

C.2a=b

Answer: C


https://dl.doubtnut.com/l/_ypi2vpuLgq4M
https://dl.doubtnut.com/l/_7ANu2tIl8McG

o Watch Video Solution

Ncert Exemplar Exercise 7 2

1. /A ABC with vertices A(0-2,0),B(2,0) and C(0,2) is
similar to /A DEF with vertices D(-4,0) ,E(4,0) and

F(0,4).

o Watch Video Solution

2. The point P(-4,2) lies on the line segment joining

the points A(-4,6) and B (-4,-6).



https://dl.doubtnut.com/l/_7ANu2tIl8McG
https://dl.doubtnut.com/l/_xOdNN90nRbk5
https://dl.doubtnut.com/l/_XL6RDSEl4PJF

‘ ° Watch Video Solution

3. The points (0,5) , (0,-9) and (3,6) are collinear.

o Watch Video Solution

4. Point P(0,2) is the point of intersection of Y-axis
and perpendicular bisector of line segment

joining the points A(-1,1) and B(3,3).

o Watch Video Solution



https://dl.doubtnut.com/l/_XL6RDSEl4PJF
https://dl.doubtnut.com/l/_B5r5BWchMMyq
https://dl.doubtnut.com/l/_rfx8mNXg4MaD

5. The points A(3,1) , B (12,-2) and C(0,2) cannot be

vertices of a triangle.

o Watch Video Solution

6. Prove that the points A(4,3), B(6,4), C(5,6) and

D(-3,5) are vertices of a parallelogram.

o Watch Video Solution

7. A circle has its centre at the origin and a point P

(5,0) lies on it . The point Q (6,8) lies outside the


https://dl.doubtnut.com/l/_aDdcAWvgN0OL
https://dl.doubtnut.com/l/_6U3gO79N48NU
https://dl.doubtnut.com/l/_5awJ71SXQUXi

circle.

° Watch Video Solution

8. The point A (2,7) lies on the perpendicular
bisector of the line segment joining the points P

(5,-3) and Q(0,-4).

o Watch Video Solution

9. The point P (5,3) is one of the two points of
trisection of line segment joining the points

A(7,-2) and B(1,-5).


https://dl.doubtnut.com/l/_5awJ71SXQUXi
https://dl.doubtnut.com/l/_wnyO2uDfvyHQ
https://dl.doubtnut.com/l/_JHqcJewNuXrg

o Watch Video Solution

10. The points A (-6,10), B(-4,6) and C(3,-8) are
collinear such that

2
AB = — EAC'

o Watch Video Solution

11. The points P (-2,4) lies on a circle of radius 6

and centre (3,5).

o Watch Video Solution



https://dl.doubtnut.com/l/_JHqcJewNuXrg
https://dl.doubtnut.com/l/_rA5EuMjfNFMJ
https://dl.doubtnut.com/l/_xbW7wKEddyJQ
https://dl.doubtnut.com/l/_u7cuHr8YGKro

12. The points A (-1,-2), B (4,3) ,C (2,5) and D (-3,0) in

that order form a rectangle.

o Watch Video Solution

Ncert Exemplar Exercise 7 3

1. Name the type of triangle formed by the points

A (-5,6) , B (-4,-2) and C (7,5).

o Watch Video Solution



https://dl.doubtnut.com/l/_u7cuHr8YGKro
https://dl.doubtnut.com/l/_KT8YAnHSWfqG

2. Find the points on the X-axis which are at
distance of 2,/5 from the point (7,4) . How many

such points are there ?

° Watch Video Solution

3. What type of quadrilateral do the points
A(2, —2),B(7,3),C(11, — 1) and D(6, — 6)

taken in that order form?

o Watch Video Solution



https://dl.doubtnut.com/l/_OWDpGz6EOEdI
https://dl.doubtnut.com/l/_0k7JC6OX83HG

4. Find the value of 'a, if the distance between the

points A(-3,14) and B (a,5) is 9 units.

o Watch Video Solution

5. Find a point which is equidistant from the
points A(-5,4) and B (-1,6). How many such points

are there ?

° Watch Video Solution



https://dl.doubtnut.com/l/_niCDyZZBsLWR
https://dl.doubtnut.com/l/_rbQjVtVLaK0D

6. Find the coordinates of the point Q on the X-
axis which lies on the perpendicular bisector of
the line segment joining the points A (-5,-2) and B
(4,-2). Name the type of triangle formed by the

points Q , A and B.

o Watch Video Solution

7.Find the value of m, if the points (5,1), (-2,-3) and

(8,2m) are collinear .

° Watch Video Solution



https://dl.doubtnut.com/l/_zkIRQ1nyDShh
https://dl.doubtnut.com/l/_7wNSKmQAcbZQ
https://dl.doubtnut.com/l/_xBbpEOGLeMIo

8. If the points A(2,4) is equidistant from P (3,8)
and Q (-10,y), then find the value of y . Also , find

distance PQ.

o Watch Video Solution

9. Find the area of the triangle wohose vertices

are (-8,4) ,(-6,6) and (-3,9).

° Watch Video Solution



https://dl.doubtnut.com/l/_xBbpEOGLeMIo
https://dl.doubtnut.com/l/_xXzDROZgqOFw

10. In what ratio does the X -axis divide the line
segment joining the points (-4,-6) and (-1,7) ? Find

the coordinates of the points of division.

° Watch Video Solution

3 3
11. Find the ratio in which the point P(Z’ E)

divides the line segment joining the points A

L3 dB (2 5
575 an (,—)

° Watch Video Solution



https://dl.doubtnut.com/l/_0Bur7aPfkE0i
https://dl.doubtnut.com/l/_bBbmgrYauZLR

12. If P (9a-2,b) divides line segment joining A
(3a+1,-3) and B(8a,5) in the ratio 3: 1, then find the

values of a and b.

° Watch Video Solution

13. If (a,b) is the mid - point of the line segment
joining the points A (10,-6), B(k,4) and a-2b =18,

then find the value of k and the distance AB.

o Watch Video Solution



https://dl.doubtnut.com/l/_n3Q7wDOzTo33
https://dl.doubtnut.com/l/_vKPETy5cy5k8

14. If the centre of a circle is (2a,a-7) ,then Find the

value of a , if the ciecle passes through the point

(11,9) and has diameter 10+/2 units .

° Watch Video Solution

15. The line segment joining the points A(3,2) and
B (5,1) is divided at the point P in the ratio 1: 2 and
it lies on the line 3 x — 18y + k = 0. Find the

value of k.

° Watch Video Solution



https://dl.doubtnut.com/l/_gSztufN5xGl7
https://dl.doubtnut.com/l/_Wd7bssNOUfYF
https://dl.doubtnut.com/l/_sW8VXVKNm7NA

16.1f D L o E(73)and F T th
. 33 ) ,3) an 313 are the

mid - points of sides of A ABC, then find the

area of the A\ ABC.

o Watch Video Solution

17. The points A(2,9), B(A,5), C(5,5) are the
vertices of a triangle ABC right angled at B .

Find the value of a and hence the area of ABC.

o Watch Video Solution



https://dl.doubtnut.com/l/_sW8VXVKNm7NA
https://dl.doubtnut.com/l/_h4ooJO7X5CzY

18. Find the coordinates of the point R on the line
segment joining the points P( — 1, 3) and Q (2, 5)

3
such that PR = 5 PQ.

o Watch Video Solution

19. Find the values of k, if the points A (k+1,2k) ,B

(3k,2k+3) and C (5k-1,5k) are collinear.

° Watch Video Solution



https://dl.doubtnut.com/l/_IVj6n3lxBJ59
https://dl.doubtnut.com/l/_8qsI1UbOB6g1

20. Find the ratio in which the Iline
2z + 3y — 5 = 0 divides the line segment joining
the points (8,-9) and (2,1). Also find the coordinates

of the points of division.

° Watch Video Solution

Ncert Exemplar Exercise 7 4

1. If (-43) and (4,3) are two vertices of an

equilateral triangle , then find the coordinates of


https://dl.doubtnut.com/l/_Xxn5lGHzVyig
https://dl.doubtnut.com/l/_Pi2Z3WaNHqdf

the third vertex , given that the origin lies in the

interior of the triangle.

o Watch Video Solution

2. A(6, 1), B(8, 2) and C(9, 4) are the vertices of a
parallelogram ABCD. If E is the midpoint of DC, find

the area of A ADE.

o Watch Video Solution

3. The points A (z1, y1), B(x2, ¥2) and C(x3, y3)

are the vertices of /\ ABC.


https://dl.doubtnut.com/l/_Pi2Z3WaNHqdf
https://dl.doubtnut.com/l/_XyXNl73qAnvd
https://dl.doubtnut.com/l/_8Fphv4kOvdQF

(i) The median from A Meets Bc at D. Find the
coordinates of the points D.

(ii) Find the coordinates of the point P on Ad such
that AP: PD = 2:1.

(ili) Find the coordinates of points Q and R on
medians BE and CF, respectively such that
BQ:QFE =2:1 and CR: RF = 2:1.

What are the coordinates of the centroid of the

A\ ABC?

o Watch Video Solution



https://dl.doubtnut.com/l/_8Fphv4kOvdQF

4.The points A (z1, 1), B(z2, ¥2) and C(z3, y3)
are the vertices of /A ABC.

(i) The median from A Meets Bc at D. Find the
coordinates of the points D.

(i) Find the coordinates of the point P on Ad such
that AP: PD = 2:1.

(ili) Find the coordinates of points Q and R on
medians BE and CF, respectively such that
BQ:QFE =2:1 and CR: RF = 2:1.

What are the coordinates of the centroid of the

A\ ABC?

o Watch Video Solution



https://dl.doubtnut.com/l/_cyDdUToARbVP

5. The points A (z1, y1), B(zs,y2) and C(z3, y3)
are the vertices of /A ABC.

(i) The median from A Meets Bc at D. Find the
coordinates of the points D.

(i) Find the coordinates of the point P on Ad such
that AP: PD = 2:1.

(ili) Find the coordinates of points Q and R on
medians BE and CF, respectively such that
BQ:QFE =2:1 and CR: RF = 2:1.

What are the coordinates of the centroid of the

A\ ABC?

o Watch Video Solution



https://dl.doubtnut.com/l/_1EkFxVotMb78

6. The points A (z1, ¥1), B(x2, y2) and C(x3, y3)
are the vertices of AABC.
What are coordinate of the centroid of the

triangle ABC ?

° Watch Video Solution

7. If the points A (1,-2), B (2,3) C (a,2) and D (-4,3)
from a parallelogram find the value of a and

height of the parallelogram taking AB as base.

° Watch Video Solution



https://dl.doubtnut.com/l/_ypkHP2xVWgCM
https://dl.doubtnut.com/l/_nVDLGpNZina5
https://dl.doubtnut.com/l/_zkIoRcggImoq

8. Students of a school are standing in rows and
columns in their playground for a drill practice . A,
B, C and D are the positions of four students as
shown in figure . Is it possible to place Jaspal inn
the drill in such a way that he is equidistant from

each of the four students A,B C and D ? If so, what


https://dl.doubtnut.com/l/_zkIoRcggImoq

should be his position ?

10 B
9 ——
8
¢ !
oC
5 *A
4 C#
3
2
1 &

123456 7 8 910

Columns % Teacher

° Watch Video Solution



https://dl.doubtnut.com/l/_zkIoRcggImoq

9. Ayush starts walking from his house to office .
Instead of going to the office directly , he goes to
bank first , from there to his daughter 's school
and then reaches the office. What is the extra
distance travelled by Ayush in reaching his office ?
(Assume that all distance covered are in straight
lines ). If the house is situated at (2,4) bank at
(5,8), school at (13,14) and office at (13,26) and

coordinates are in km.

o Watch Video Solution

Board Corner Very Short Answer Type Question


https://dl.doubtnut.com/l/_G9WtzVGHwUA6

1. Find the coordinates of a point A, where AB is
the diameter of a circle whose centre is

(2, 3) and Bis (1, 4).

o Watch Video Solution

2. Find the coordinates of a point A, where AB is
diameter of the circle with centre C (2,-3) and B is

the point (3,4).

° Watch Video Solution



https://dl.doubtnut.com/l/_rMgTeBMHAVLs
https://dl.doubtnut.com/l/_7d8GrfDPXiUp

3. Write the coordinate of a point P on X-axis
which is equidistant from the points A (-2,0) and

B(6,0).

o Watch Video Solution

4. Find the distance of a point P(m,n) from the

orgin.

° Watch Video Solution



https://dl.doubtnut.com/l/_5Ko4z4wDHhQW
https://dl.doubtnut.com/l/_4PzPE8tCvg1y

5. If the distance between the points (4,k) and (1,0)

is 5, then what can be the possible values of k.

° Watch Video Solution

Board Corner Short Answer Type Question

1. Find the ratio in which the line segment joining
the points (1, -3) and (4 , 5) is divided by x- axis .

Also find the co-ordinates of this point on x-axiws.

o Watch Video Solution



https://dl.doubtnut.com/l/_3VSeFSjvq9UH
https://dl.doubtnut.com/l/_IjHdafC9jWN1
https://dl.doubtnut.com/l/_QrrMRkEVUup0

2. Find a relation between x and y if the prints A(x,

y), B(-4, 6) and C(-2, 3) are collinear.

° Watch Video Solution

3. Find the area of a triangle whose vertices are

(17 T 1)7 (_47 6) and( — 3, 5)

o Watch Video Solution

4.Find a point on y-axis which is equidistant from

the points (5, —2)and ( — 3, 2).



https://dl.doubtnut.com/l/_QrrMRkEVUup0
https://dl.doubtnut.com/l/_SX147urNzoUm
https://dl.doubtnut.com/l/_k59dMom8vDej

| o Watch Video Solution

5.The line segment joining points A(2,1) and B(5,-8)
is trisected at the points P and Q such that P is
nearer to A. If P also lies on the line given by 2x -y

+ K =0, find the value of k.

° Watch Video Solution

6. Find the ratio in which the line x - 3y = 0 divides

the line segment joining the points (-2,-5) and


https://dl.doubtnut.com/l/_k59dMom8vDej
https://dl.doubtnut.com/l/_b2OG1HJlQMhK
https://dl.doubtnut.com/l/_WAQrNhIzNOz5

(6,3). Find the coordinates of the point of

intersection.

o Watch Video Solution

7. Point A lies on the line segment PQ joining P(6,

6) and Q(-4, -1) i h that P 2 If
- an -4, -1) 1IN SUCN a wa atl — = —.
0 ythat = = 2

the point A also lies on the line 3x+k(y+1) = O, find

the value of k.

o Watch Video Solution



https://dl.doubtnut.com/l/_WAQrNhIzNOz5
https://dl.doubtnut.com/l/_UVEbhypyeGAU

8. Find the ratio in which Y-axis divides the line
segment joining the points (-1,-4) and (5,-6). Also
find the coordinates of the point of the

intersection.

° Watch Video Solution

9. The area of a triangle is 5 sq. units. Two. Of its

vertices are (2,1) and (3,-2). If the third vertex is

7
(5’ y), find the value of y.

° Watch Video Solution



https://dl.doubtnut.com/l/_lr8ZtmJnzcEp
https://dl.doubtnut.com/l/_q1j09i3Gvp1j
https://dl.doubtnut.com/l/_Gb1lKkAAUZol

10. of A( — 2, — 1), B(a,0), C(4, b)andD(1, 2)
are the vertices f a parallelogram, find the values

of aandb.

° Watch Video Solution

1. If
A(5, 7), B(—4, —5), C(—1, —6)andD(4, 5)
are the vertices of a quadrilateral, find the area of

the quadrilateral ABCD.

° Watch Video Solution



https://dl.doubtnut.com/l/_Gb1lKkAAUZol
https://dl.doubtnut.com/l/_BdhitCbQmyW8
https://dl.doubtnut.com/l/_D7kXyYBH2QFH

12. A line intersects the y-axis and x-axis at the
points P and Q respectively. If (2,-5) is the mid-

point of PQ then find the coordinates of P and Q.

° Watch Video Solution

13. If the distances of P(z,y) from

A(5,1) and B( — 1, 5) are equal , then,

o Watch Video Solution



https://dl.doubtnut.com/l/_D7kXyYBH2QFH
https://dl.doubtnut.com/l/_NG9a3wLGtdOl

24
14. In what ratio does the point (ﬁ’ y> divide

the line segment joining the points P(2, 2) and

Q(3,7) ? Also find the value of y.

o Watch Video Solution

Board Corner Long Answer Type Question

1. If a # b +# ¢, prove that (a, a2), (b, b2), (0, 0)

will not be collinear.

o Watch Video Solution



https://dl.doubtnut.com/l/_PSLCmOdBXTlu
https://dl.doubtnut.com/l/_PxB5kY3n8Cee
https://dl.doubtnut.com/l/_4qwsBSgoTTj9

2.If points A(k + 1, 2k); B (3k, 2k + 3) and C(5k - 1, 5k)

are collinear, then find the value of k.

° Watch Video Solution



https://dl.doubtnut.com/l/_4qwsBSgoTTj9

